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2 +y2 =1 .167 xy’+x2+xy—y=.0
y—y =Y +x) 169 (zxyZ- y)dx + xdy = 0
X2y =y(x+y) an (z+23)y =y |
y+yIn’y = (x+2lny)y 173 (1- xz)dy + xydx = 0
y = (xy’ + 2y>2 175 X2y — 2y = 3y
’;_",A/)‘z% 177 y =1/ (x5
23 432 47 =0 179 (x+y)y =1
W =&y 181 A (4 2x)dy
dy + (xy— }y’:%)dx =0 .183 2( - y?)dy = yax
J;}%_ =2 185 22y = yz(w_-y>
(1—x2)yr_ 22 = xy 187 .y(y_ xy:) = A
(xy4— x>dx+ (v +yx)dy =0 .189 Yty =x3

Y +y2cotx = cos x .151 (sin x +y)dy + (ycos x— xz)clx =0.
*(x+1)(y-1) =y 193 (¢ +20)ax + (& +x)uy = 0.
y .+ Yy =3 195 x2(dy— dx) = (x +y)ydx
Y =%e¥+y 197

(xcos y + sin 2y)y = 1

YVE=AFTEHE 199 (4xy— 3)y +y2'= 1
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(Cx+1)y = Cx—1;y =1 .167
y(x+C)=x+1;y=0 .169
yin Cx =—x;y =0 171
x=Cy+h’y 173

4oty = (x+2C)2 sy =0 175

y2=C(xy—1);xy=1 .177\

By+Tx=C 179

— eV =1n C(x—2) .181

y?-(CexZgr 1-) —1;y=0 .183

In x2+y2) + arctan ();/x>'= Cc .185

y(, /22— 1\—2> = 1;y = 0: .187
1= Clew 1)l (y? + 1) 5 2 -=1 189
3y2 = 2sin x + Csn 2x .191

(x+1)y = x2+xln Cx .193

Y23 = Ce¥ + (x/3) + (1 /6) .y =0 .195
y = (2 + C)e 197
\/yT‘—\/J'c=C;y=x 199

y = CpeC% 201
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y = x(Ce™*= 1) .166
yx2-C> =x;y=0 .168
. Cy+y;y=0 170

y2 = C(x2= 1) ix= %1 172
y = Cx2e—3x 174

x=C& +y2+2y+2 176
Vx+y - tan (y— %) .i78

y(ry—1) =Cx 180

X = yz(C— 21n ly\> 5y =0 .182

y2 =2xIn Cy;y=0 .184

P/ Eryi=C 186

yz(Ce7~‘+x'+ 0.5) ~1;y=0 .18

_ . 2
y sin x-—-’-c——-y— =C .190

3 2
x(& +xy) =C 192
y=xtanInC;x=0 .194

x = Cesny—2(1 +siny) .196

x(yz— 1)2 =y3=3y+C 198

4(cw- 1) = Ci(x+ 62)2 200



